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Motivations  and  Previous  Works

• Fundamental  in  computational  real  algebraic  geometry.
• Many  important  applications  in  science  and  engineering.
• Previous  work:

1975      Collins
1983      Schwarc,  Sharir
1984      Arnon,  Collins,  McCallum
1987      Canny,  Roy
1988      Arnon,  McCallum
1989      Alonso,  Raimondo
1992      Feng,  Grigor’ev,  Vorobjov
1993      Hong
1994      Heinc,  Roy,  Solerno
1996      Basu,  Pollack,  Roy
2010      Hong,  Quinn
2011      Safey  El  Din,  Schost
2012      Basu,  Roy,  Safey  El  Din,  Schost
2013      Basu,  Roy
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